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5/1 IR 4> 100,000(12/31 T4EES 25,000 12/31 74 k& & % 25,000(12/31 & Hf #& # 25000
n 18 & 75,000 1/1 ®if ) &k 8 25,0000 1/1 % # & # 25,000
100,000 100,000
1/1 e E 25,000
3
=7 4KA §=vaj 4KA
(1) 5 s 285,000 A 35,000
ik 250,000
2) HFE 126,000 RS 180,000
5 54,000
(3) GG 339,000 5 HE: 339,000
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(PR RFEHYTER)

=% SFH =] GHH
@® (IVN 130,000 b S 130,000
HETh 145,000 (1WN 145,000

@ HEE RARERA 4,000 5 M 4,000
©) DRHEL 108,000 G EA B T 72,000
W IRHTEAE PA 36,000
@ ARSI 20,000 FeR HAHIRES: 20,000

® R 2,000 Bk 2,000
© ARG 30,000 SAGE 30,000
@ THiGS 20,000 THRGIEY 20,000

AL 6,000 S 6,000

©) SAHFIE. 2,000 HELFIE, 2,000
B 30,000 5 30,000
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(N7 . TH)

5 B iﬂ%%%ﬁﬁ%i‘% ﬂ%rﬁa?\ Tﬁﬁ%%% ‘é%ﬁﬁﬁ%
g HFle HFE HF18 F|E SHF B FHF|I®E 1B F
e 75 2 73
Y JEE T 4 312 312
o B4 360 360
LLEEE 14 4 18
% BB M9 A i 300 20 280
Bt & 390 390
it B P 130 145 130 145
fis dn 400 400
7] 1,000 1,000
B 4 5 1 05 0 2 3 O 288 36 324
= s 180 180
&N 4 250 250
[ N 2,000 30 1,970
g1 4 30 30
5E k 1,583 1,583
T WMHERE 150 30 180
= A 35 35
fEA 1,301 130 145 1,286
fa B 30 30
AR R OB 42 6 36
14 FE o 2 30 20 10
LS 70 2 72
Mt # 30 30
4,500 | 4,500
FE 08 31 Y 4 A 4 4
TRl AT B =) 108 108
5 96 12 20 52 72 72
A7 AT 7t % 2 4 48 20 20
MER 2 2
ENIES 30 30
H FE 4l 20 20
1T 44 R BB 6 6
45 F) B 2 2
= H R 2 200 200
497 497 1,798 1,798 3,016 3,016
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B K H 5 =
Pilo4 H1 B212 31 HET
5o HA 1,286,000 Fe b 1,583,000
bt 30,000 SHEE 180,000
SHEREL 36,000 SIS 35,000
THEGN 10,000
SHEREL 16,000
P PASHEIA 4,000
TR e, 108,000
SR 72,000
FMREARTITE 20,000
it 20,000
_ BHRER 200, 000
1,798,000 1,798,000
E B x B %
Wiko 12 H31 H
% jE 4 HIEBIOEAR 4 KA
B 73,000 B 180,000
AL 312,000 NG 250,000
s Eirac 360,000 RHFE 2,000
B 44 18,000 342,000 B 1,970,000
HAMRIES 280,000 WHEF RS 200,000
=K 390,000
G 145,000
MRS, 20,000
NG 30,000
AR 6,000
=) 1,000,000
NG il (15223 e 324,000 676,000
it 400,000
DB B T4 72,000 328,000
2,602,000 2,602,000
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2.
ER R
O#F12H1H
(FEH#4) (120, 000) (5¢ k) (120, 000)
3.
(ff) LA 150,000 (5) #He 50,000
B # 4 100,000




